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ECONOMICS
Paper 11
Time Allowed - 1% Hours] [(Maximum Marks : 100

Note :— This question paper consists of fifty (50) questions with multiple choice

answers. Each question carries two (2) marks. Attempt all questions.

1.  Which of the following Five Year Plans recognized human development as the

core of all development efforts 7

(A) Seventh Five Year Plan (B) Eighth Five Year Plan

(C) Fifth Five Year Plan (D) Third Five Year Plan
9. What is meant by “Trickle down effects” ?

(A) That economic growth will eventually (and automatically) bring benefits
to the poor

(B) That economic growth needs to be controlled by the state

(C) That economic growth needs to delivery systems to bring benefits to
the poor

(D) None of the above
T.B.C. : 1715/ET—11 2



wy-ux 11
T ;15 A [quits : 100
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1. fom duadig dem § wE faae F faem seiss & 9@ 3 w9 4 9ew 7T

™ ?
(A) rE TeEsiy e
(B) W& yHasid A
(C) uradl d=adia are
(D) el dwEsg dee
2. “Trickle down effects” ® #M F1 ¥7g@ & ?
(A) snfds fasm sima: (iR w@a:) & =1 o enwf=a won
(B) @i fawma = oo g Frifw fea s =ifeq

(C) anfds fawmg =1 & ) oivifaa 5@ & fau o 59w wsr =t 9= &=t

HEvgHal §

(D) 39d=a § @ =
T.B.C. : 1715/ET—II 3 P.T.O.



3. When monetary fiscal policies are used to expand the economy ?
(A) It increases the real exchange rate and reduces net exports
(B) It decreases the real exchange rate and increases net exports
(C) It increases the real exchange rate and increases the net exports
(D) It decreases the real exchange rate and reduces the net export
4. The term dual economies refers to the disparities between :
(A) The developed and developing economies
(B) Men and women’s earning in the developing countries
(C) Rural and urban life in the developing countries

(D) The efficiency of market sector and inefficiency of governments of developing
countries

5. If the price of a commodity is Rs 10 per unit; suppose change in the price

of the commodity changes the total revenue by Rs. 8. Calculate the value of

coefficient of price elasticity of demand.

(A) 5 (B) 256

1
(C) 5 (D) 2

T.B.C. : 17/15/ET—II 4
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3w difes TaENm AT 1 wEn adwge 3 fawr & fou e o § 2
(A) @& FRo arafas fafra o § gfs 30 ¥ oo we frfe § w0 omd #
(B) T8 Fnv arcfas fafma g %9 3 Wt 9o e e 7 3fs &G ¥
(C) 7% arafas fafma o & afz =@ & au yg fafa § o ofs s @
(D) 398 wrw aratas fafem @ § =@ omeht & gy Frafo ot &9 @ 9 &

4, e aformed (dual economies) I FEAE@SA H Zwd § S
(A) & fasfoa iR scofasfan sEwasi §

(B) fawrayita 29 # fodl oo gedl +1 om
(©) famraviie 2 & i o wed SfEF H =R
(D) W9R F FEFvem qa faemie 39 § WeR # FEayem $ow

5. u&mﬁaﬁmwmwﬁiwﬁ%ﬂﬁt@ﬁvﬁ?h%m@mi

8 T9Y H wRads s ¥, @ =i F qem @ F=@ e 2

(A) 5 (B) 25

1

(C) 5 D) 2
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6. Law of Equi-marginal utility refers to :

(A MY M e MUy
N P,
ATU, ATU, _ ATU
(B) D A _JAP,,
AMU; _ AMU, _ AMU,
(C) P.l Pz ...... Pn

(D) None of the above

7. Read the following statements :

(i) Incidence of a specific sales tax on the consumers varies inversely with

elasticity of demand

(if) Incidence of a specific sales tax on the producers varies directly with the

elasticity of demand.

L

(A) Both (i) and (ii) are true
(B) Both (i) and (i) are false
(Cy Only (i) is true

(D) Only (ii) is true

T.B.C. : 17/15/ET—II 6



6. wmymr Il & fam w1 54 ¥ .

o = —4
(A) P, P, P,
ATU;, _ATU, _ ATU,
(B) “Ap, " AR, AP,
(C) 1 = = S = —"
151 p2 Pn

(D) sWE # | FE &

7. Frofafes s = faar st .

(@) SR W fafire fast-w & Suue am # e $ afaem § ser afEfda
B ¥

(i) somw W fafre faF-w =1 FU9m WM & d@e % v w9 § ofEfda
e ¥

(A) 3F () 3R () wdt ¥
(B) =HI () 3 (i) "o &
() faw () wdl ¥

(D) faw (i) 9&t &
T.B.C. : 17/15/ET—II 7 P.T.O.



8. High powered money is :
(A) Rupee held as legal bank reserves
(B) Only bank’s reserves with the central bank
(C) All loans and securities of banks
(D) None of the above

9. If ‘D is initial deposit and ‘R’ is the Cash Reserve Ratio, the general formula

for deposit multiplier is :

D
(A) D xR (B) R

D D
€ 7_Rr
10. According to Keynes ‘active balancgs' is the money held for :
(A) Transaction motive
(B) Speculative motive

(C) Transaction and precautionary motives

(D) Precautionary motive

T.B.C. : 1715/ET—I1 8



8.

9.

359 Fofoa 99 ¥

(A) T HA % F w9 A e ¥R
(B) foF ¥ & & W4 9% F WEN
() Wit =w #Aw Al w1 wheyfeEt

(D) 394 # A wE W

afe D wifas W@ &t R TES AREE sEum & @ 9 v & e wme g3
g

(A) DxR (B) %

D
© i—® | ® TR

10. m(Keynes)%mﬁﬁmm'mﬁ@?'t:

(A) @F-27 ARG

(B) €& HHRES

(C) sF-29 3 wefoand "+

(D) Tpfoad 9HEe

T.B.C. : 1715/ET—II 9 P.T.O.



11. Subsidies on food and fertilizers represent a sizeable and growing item of centre’s |
non-plan expenditure. In case of food subsidy the rising trend is attributable

to :

(A) Increasing cost of procurement

(B) Storage and distribution of foodgrains
(C) Increase in foodgrain stocks

(D) All of the above

12. The Constitutional Amendment Bill that seeks to amend the constitution to
authorise the levy, collection and appropriation of the Goods and Services Tax

(GST) was introduced in Lok Sabha by the Finance Minister in year :
(A) March, 2012 (B) March, 2011
(C) March, 2010 ' (D) March, 2013
13. Coase’s theorem deals with :
(A) Pricing of public goods
(B) Internalization of externalities

(C) Solution to the problem of externalities in term of well-defined "and

exchangeable property rights

(D) None of the above
T.B.C. : 17T15/ET—II 10



11. @@ 3 S W A9eH @my/@Es N 9gd 99 F s ®1 R-AeE =E g
%, @@ oEE % Wme # agd gt & R ¥E

(A) BT # @@ H 3fg

(B) @ $1 YR 2R faam
(C) @< wgrR #H gfg

(D) =9da |4

12. dfaur dvius fabgs s dfaum d gvie w0 www 2, ofs 5@ fFa gen 9,
@ 2R O FT (GST) * fafrdm wivsa & o=, fau = g ffg w@ # s
qy ¥§ i e w2

(A) W€ 2012 (B) = 2011

(C) A€ 2010 (D) == 2013
13. #S (Coase) Fl WHA Haftd ¥ :

(A) TEwE g = gea fuio

(B) aTesl e

(C) oT=h we ¥ sRenfam 3 fafmg gmfa afien =t safy ¥ sy saen & fau

HHHTT

(D) 3997 § ¥ #
T.B.C. : 17/15/ET—II 11 P.T.O.



14. How can the inflationary gap at full employment be wiped out ?
(1) Through increase in money supply
(2) By increasing output to absorb excess demand
(3) By rise in voluntary saving of the community
(4) By imposition of tax to mop up the surplus
(A) Only (1)
(B) (2), (3) and (4)
(C) (1) and (2)
(D) All of the above
15. IS-LM model has been fc.yr'mulabed by :
(A) J.M. Keynes (B) J.R. Hicks
(C) P.A. Samuelson (D) Modigliani
16. What do dependency theorists believe ?
(A) That free market development primarily helps the rich

(B) That developing countries should be dependent on free market

development
(C) That economic growth is dependent on the poor
(D) All of the above

T.B.C. : 1715/ET—II 12



14, TEE sieoe o ST 4 B9 T W wEd § 2
(1) ¥ =t amyff & 3fz & mem |
(2) sfafem =m # sEvifes 0 F fou s § 3fz @
(8) wR™ #! Wfews @9d 4 3fg $ W
(4) #X & AU # IR AW R B Em
@A) f&w ()

(B) (2), (3) 3r (4)

(C) (1) 3R (2)
(D) 3Svgaa |l
15. IS-LM Tiew foad gm dam fear mn & 2
(A) S.TR. =9 (B) Har femm
(C) T Fgew (D) el

16. vt fagiqad =0 favam @ ¥ 2
(A) f& 790 amm oo™ g7 &9 @ i 57 e w b
(B).ﬁ:ﬁmszﬁaéwgaamﬁmmﬁﬁzmm
(C) T anfdfs sgawen @i w fsft &

(D) s9d=a |t

T.B.C. : 1715/ET—II 13 P.T.O.



17.

18.

19.

20.

What is the ‘Quad’ at the World Trade Organisation 7

(A) The coffee shop at WTO

(B) The decision-making structure composed of the US, the EU, Brazil and
India

(C) The four most powerful countries within the WTO
(D) The four department within the WTO

Which of the following taxes is/are levied by the Union and collected and

approved by the States ?
(A) Passenger and good tax (B) Estate duty
(C) Taxes on newspaper (D) Stamp duties

Which of the following taxes is the largest source of revenue for government

of India 7
(A) Customs ) (B) Income
(C) Excise (D)  Corporation

Which of the following taxes is levied and collected by the Union, but assigned

‘to the States ?

(A) Sales tax (B) Consignment tax

(C) Oectroi (D) Excise

T.B.C. : 17/15/ET—II 14



17,

18.

19.

20.

fava =R @@ (WTO) 9 ‘Quad’ F1 & 2

(A) WTO W ®fHt &1 &M

(B) fofa &3 =ren ==n s f& am@ftE, EU, anfte 3R Wi | faeee @31 %
(C) WTO # 4R =R &g wigaemet a9

(D) WTO &% °ftrt =m fasm

fr 8 @ 398 W 99 3 WEE fRu T s uww, emeifte el grn fEu
2

(A) It R "E w (B) foms g

(C) I@aR FT (D) AR ITF

Frafafed 0 4 | 99 9/d @R % fou oo #1598 99 8@ € 2
(A) 1 IEF (B) 3™

(C) 3R Y[ - (D) fm

frafafaa 4 | FF@ # tFF 2R age 99 gm few s %, afFs S oo @

Eici i -3
(A) fa=i-=2 (B) HE-1
(C) = (D) 3" IEH

T.B.C. : 17/15/ET—II 15 P.T.O.



21. Null hypothesis is an assumption on statement :
(A) Which is always true
(B) Which is always wrong
(C) Regarding the parameter or the form of population distribution
(D) None of the above

22. What is the probability of getting at least one tail on three tosses df a fair

coin ?
7 . 3
(A) 3 (B) 8
1
(C) 3 (D) None of these

23. The mean of a binomial distribution is :
(A) np (B) npg
(C) Jnpq (D) None of these
24. To control inflation the RBI shou;ii do :
(A) To buy government securities and increase bank rate
(B) To sell government securities and increase bank rate
(C) To sell government securities and decrease bank rate

(D) To buy government securities and decrease bank rate
T.B.C. : 1715/ET—I1 16



21

22.

23.

. YA TEHE T 9RO 97 W qE ©

(A) = foF & v @

(B) st f5 #hen e ®

(©) fe ufn @ wRFEN famw ® w0E F way A

(D) 37w & | F

v Froqy foeh 1 99 9K SO@ WA W FH W HA TH AW W A F ANE

T ?

oolw

7
(A) g (B)

[

() (D) T | FE T

|

fguz 7= w1 WE ¥

(A) np (B) npg

(C) Jnpq (D) T ¥ FE T
ydg fod d% 1 qEewifa 1 FEfe w@ % fag @ s wifeg ?
(A) TR vt when sk d w § afs

(B) @l wfayfaal d=n i ¥ = #d 3fg

(C) Fwrt wfavfral s=m o F @ 8§ finme

(D) T Wit @ien o dF w § free

T.B.C. : 17/15/ET—II 17 P.T.O.



26.

27.

Which of the following states produces maximum pulses in India ?
(A) Maharashtra (B) Himachal Pradesh

(C) Madhya Pradesh (D) Bihar

Who is the Chairman of NITI Aayog ?

(A) Raghuram Rajan (B) Arvind Panagariya
(C) Arvind Subramanian (D) None of these

The Consumer Protection Act was enacted in the year 7

(A) 1977 - : (B) 1984

(C) 1986 | (M) 2015

In Poisson distribution :

1
(A) Mean = variance (B) Mean = 3 variance
1 .
(C) 5 Mean = variance (D) None .of these

Statistics as a discipline concerns itself with the :

(A) Collection of data (B) Analysis of data

(C) Interpretation of data (D)  All of these

T.B.C. : 1715/ET—II 18



grE w1 Fetahas 3 8 FHE T 9698 9R g I ¥ ?

25.
(A) WS (B) femram ww
(C) 997 WRH (D) faer
26. NITI @M & 135 31 § ?
(A) TS T (B) 3nfag wmfem
(C) 3Rfam gamir (D) 7@ F FE =@
27. f&m ad # 3uvdEm S sfutam sfafafe Fo o= e 2
(A) 1977 (B) 1984
(C) 1986 (D) 2015
28. @ (Poisson) #2A H :
(A) A = fa=w (B) mw:%ﬁm
© 5 = O v Y A
99, wifegal = fawg & w9 H frgd dafum ¥ 2
(A) HFZ HIE (B) gl faweram
(C) #iwg = (D) 3 |l
T.B.C. : 17/15/ET—II 19
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30. Which one of the following contributes most in capital formation in India ?
(A) Corporate Savings (B)  Public Sector Savings
(C) Household Savings (D)  Government Revenue Surpluses
31. Wage Policy in India is based on :
(A) Standard of Living (B) Cost of Living
(C) Productivity (D)  None of these

32. Which of the following are the main causes of slow growth rate of per capita

income in India ?
(1) High rate of revenue deficit
(2) High savings rate
(3) High rate of population growth
(4) High capital-output ratio
(A) (2), (4)
(B) (3), (4)
(C) (1), (3)
(D) (1), (2), (3), (4)
33. Interaction of the multiplier and acceleration is known as :
{A) Dynamic Multiplier (B) Super Mulitiplier

(C) Investment Multiplier (D) Employment Multiplier
T.B.C. : 1715/ET—II 20



30. fr= § @ ®F wrm # 91 fmiw H wed afuF e AW R 7
(A) @fes o= (B) W &9 &=
(C) =¥, &= (D) TwE AHH

31. wra § wegd &1 Afa few w enuf@ ¥ 2
(A) S =1 A\ F (B) &1 = @MW
(C) e ) w7 = T

39, Fefatan § @ #7 wra # wha =fE @ @t o faws @ ges e E 2
(1) TrE =W H I W
(2) 3=9 @=9d
(3) ¥=9 wEEd # gE T
(4) s=a qsft IR SIE
(A) (2), (4)

(B) (3), (4)

(C) (1), (3)

(D) (1), (2), (3), (4)
33.Wﬂnw%mw%ﬂa$mﬁ§mmt:

(A) wfaviie U (B)- L RIED

(C) faw uF (D) TR U
T.B.C. : 17115/ET—II 21 _ P.T.O.



34. Which of the following is not correct in Keynesian 1S-LM model ?

(A) The money multiplier will be larger if the demand for money is more

interest elastic

(B) The fiscal policy multiplier will be larger if the demand for money is more

interest elastic

(C) The money multiplier will be larger if the demand for capital goods is more

interest elastic

(D) The fiscal policy multiplier will be larger if the demand for investment

goods is less interest elastic
35. The Leontief Paradox refers to the empirical findings that US :
(A) import substitutes are more K-intensive than exports
(B) Imports are -mom K-intensive than exports
(C) Exports are more L-intensive than imports
(D) Exports are more K-intensive than import substitutes
36, Chelliah Committee of 1992 deals with the overhauling of our :
(A) Public Sector Undertaking (B) Financial System
(C) Tax System (D) Patents and Copyrights
37. Bandwagon effect in the case of Law of Demand refers to :
(A) Demonstration effect (B) Status symbol

(C) Snob effect (D) None of these
TB.C. : 17/15/ET—11 22



34.

35.

36.

37.

frafafas 4 § ¥ #=E IS-LM wza 8§ 9@ 78 § ?

(A) ¥ T FE A O AR 4 F Ry w s s AR §

R R e e g L e
(C) ¥ o =g & S AR fiw e # faw am sfes ene deer ¥

(D) T Hifa e #2 @ s 3k FEw e $ oo am Fm e deen
£

foaf=w ehEw, savsfas @l #1 wei| @ & st US @

(A) @ fawen sfus Koma ¥ frafa &

(B) ¥mam fus K w7 ¥ Fafa &

(C)ﬁahah%bm%mm@

(D) Fafa =@ Ked & amm faweq &

1992 &1 Joa wfafa few sife | wafua & 2

(A) WRisFs &9 S 5 gl TR v mp—

(C) T yomed D) @fysr 73 3 yEREfER
wm & Fam & fowg 8§ dgarift gaE 59 weidn s & 2

(A) weef 9vE (B) Teufad wdtw

(C) WHUEl w9E D) ¥ F +¢ T4

T.B.C. : 17/15/ET—II 23 P.T.O.



38. Demand curve shifts due to the change in :
() Price of the concerned commodity
(zi) Price of related commodity
(zii) Income of the consumer
(iv) Taste and preferences of consumer
(A) (i) only
(B) (i) and (ii) only
(C) (i), (iii) and (iv) only
(D) All of the above
39. A firm under which market structure may operate beyond its optimal
capacity :
(A) Perfectly competitive
(B) Monopolistic competition
(C) Monopoly
(D) No firm can operate beyond its"capacity
40. Long-run equilibrium of a perfectly competitive firm follows that :
(A) P= AR = MR = MC = LAC = LMC.
(B) P> MC = MR = AR
(C) P= AR = MR = MC

(D) P=AR = MR = MC = LAC > LMC
T.B.C. : 1715/ET—11 24



38, W TF § uREd few e @ HR0 o € ?
() HW B TG H HBEA
(i) TaEfeR T B B
(i) J9mE F
(i) ST ® R AR
A) fa% @)
B) fa® (i) 3R (D)
(C) s (), (i) &M (w)
(D) S9gaa i

39. @mﬁwmm@mmﬁﬁmmmm%mmm
t:

(A) T 7 | wioead

(B) wawfeiits it

(C) TEHIfFR

(D)Mﬁwmﬁviﬂémmmmaﬁmm
40. w@mﬁmﬁmmﬁwmfmt:

(A) P = AR = MR = MC = LAC = LMC

(B) P> MC = MR = AR

(C) P= AR = MR = MC

@) P = AR = MR = MC = LAC > LMC

T.B.C. : 1715/ET—II 25 P.T.O.



41. When the housing market; boom first began to unravel globally in 2007 banks

discovered their over exposure to what ?

(A)

(B)

(C)

(D)

Derivatives

Shoddy buildings

Politically motivated loans

Toxic assets of mortgage backed securities

42. Which of the following is trade barrier ?

(A)

(C)

Tariffs and Quotas (B) Voluntary export restraint

Fair trade laws (D) All of these

43. If two countries have identical relative opportunity costs :

(A)

(B)

(€

(D)

T.B.C. :

There will never be any basis for trade

They might specialise in production of certain goods and acquire a
comparative advantage in those goods over a time
Each will gain from protectionist policies

The country with an absoluted advantage will reap all of the gain from

trade

1715/ET—II 26



41.

42.

43.

s 2007 § fave @R W @A 0 & fou FEEE @R g9 gedl 9R IE g9,

A di F TR H AR R SfEE 7 oam 7

(A) g9

(ﬁ)u&mm

(C) Terifa B ARa W

(D) fauma afedl & syeh wafda wfoyfa
frofafas # ¥ #F =R A4S T ?

(A) Y= a1 fewm (B) wfes frafle w59
(C) frsuy =R HEA M) 3 gt

R A W F FEAE I A W A, q@ o
(A)aﬁma?fmaﬁi‘ﬂm_w?ﬁm

(B) a@mﬁ%mﬁmmmwﬁmaamaﬁﬁmm

oY W F GFHA ©
(C) v # WAvER Afad ¥ ey g

(D)%mmwﬁmvamamwﬁaﬁmm
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44.

45.

Which of the following isfare true as aim of the National Policy for Farmers

(NPF) 2007 ?

(1) Improving economic viability of farming
(2) Increasing net income of farmers.

(A) Only (1)

(B) Both (1) and (2)

(C) Neither (1) nor (2)

(D) Only (2)

As per budget 2015-16 allocation for Rural Infrastructure Development Fund

(RIDF) set up in NABARD is :
(A) 45,000 crore (B) 15,000 crore
(€) 5,000 crore (D) 25,000 crore

Recommendations of 14th Finance Commission which was submitted on

December, 2014 will be implemented with effect from :
(A) 1st April, 2015 (B) 1st January, 2015

(C) 1st April, 2016 (D)  1st July, 2016

T.B.C. : 17/16/ET—II 28



44. TR @9 FREE & forg A E Ty s (NPF) 2007 @ 323vg 1 3d, & Frefatan
# q I/ g &E 2

(1) &ft F1 onfds sawda § gur
(2) fwer =t 7@ am ¥ 3fs

(A) fa= (1)

(B) 2 (1) 3 (2)

(€) (1) 7 & (2)

(D) faw (2)

45. 92 2015-16 & FgEr wdm Ffae @ iy (RIDF) & fau sEes < f&

NABARD # & 41 ¥ :
(A) 45,000 U3 (B) 15,000 H{8
(C) 5,000 F1% (D) 25,000 FU3

46. 148 fom M =1 waE S fEer, 2014 1w o T @ 59 R T

wmem ?
(A) 1 3@, 2015 (B) 1 ¥9&d, 2015
(C) 1 =T, 2016 (D) 1 ., 2016

. T.B.C, : 17T15/ET—II 29 P.T.O.



47.

49,

50.

By how much did the value of the currency of Thialand, South Korea, the

Philippines and Malaysia fall during the Asian Financial Crisis of 1997/1998 ?
(A) 60% (B) 20%

(C) 30% (D) 32%

Trade-off between two commodities is called :

(A) Comparative advantage (B) Specialisation

(C) Absolute advantage (D) Marginal rate of transformation

The system in which government intervenes in order to reduce day to day

variability of exchange rates is called :

(A) Flexible exchange rate system  (B) Fixed exchange rate system
(C) Dirty float system (D) Purchasing power parity system
Under the currency board :

(A) Country abandons its currency and uses a foreign currency

(B) Country appoints to manage the dirty float its currency

(C) Exchange rate between country and that of another country is fixed by

law

(D) Country appoints board to run its monetary policy and target exchange

rate
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(A) 60% (B) 20%
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